
Notes - EC 11

A.
Introduction:


1.
Scarcity:



-consumption



-production


2.
Concept of opportunity cost for each



-example:  bread = $2, Chicken = $5/lb




-1 lb chicken = 2.5 loaves of bread

B.
Applications:


1.
Govt analysis of programs


2.
Business evaluations of profitability


3.
Example:  decide to build a dam - cost = $1 billion



-surrender 100 tanks if each is $10 million

C.
Analyzing trade-offs (PPCs):


1.
Decide what, when, how production will take place


2.
PPC - 2 goods (explain)



A.
Diminishing returns near axes



B.
Clothing and food


3.
Shifts in PPC



-Technology



-availability of inputs



-also, points inside and outside curve


4.
Example:  Wheat v. cranberries



A.
more land, fallow land, hybrid wheat, etc.



B.
example 2 - consumption now versus consumption later

D.
How to decide where to produce?


1.
Market, command economy, mixed (which goods?)

-----------------------------------------------------------------------------------------

A.
Supply and demand:


1.
Demand - law of demand


2.
Example (pizza):





Price

Quantity





$7.00

    100





$6.50

    140





$5.50

    190





$5.00

    220



A.
Graph


3.
Properties:



-never up sloping (Giffen good), fixed in SR

B.
Determinants of demand:


-Tastes, income, prices of related goods, # of buyers, taxes/subsidies


1.
Tastes:  Hula hoops, fish v. beef, chocolate



-graph


2.
Income:



-normal, superior, inferior



-graph



-examples:  Kraft M&C, rice and beans (inferior)





Rolex Watch, Kobe Beef (superior)


3.
Prices of related goods:



-substitutes:  
beef and chicken/auto versus bus



-complements:
Cars and tires/hot dogs and buns


4.
Difference between change in demand and change in Qd

C.
Law of Supply:


1.
P up = Q up


2.
Example (pizza again):




Price

      Quantity




$7.00


320




$6.50


230




$5.50


180




$5.00


110


3.
Graph


4.
Factors that change supply:



-Technology



-Resource Costs



-Number of sellers



-Taxes/subsidies


5.
Distinguish between change in supply and change in Qs


6.
Example:



-Price of cheese falls, tax is placed on pizza sellers

D.
Combining supply and demand:


1.
Example:



-supply and demand for gasoline:




-Price of petroleum up (s)




-Pcars down (d)




-Tax on gasoline (d)




-Incomes up (d)

E.
Supply and demand for houses:


-Rents up

-federal subsidies


-R.E. taxes up
-Incomes down (recession)


1.
Use above to show indeterminacy with double-shift

F.
Govt interference in markets:


-Price ceiling


-Price floor


1.
Examples:



-Minimum wage



-Rent Control



-Agro price supports



-Natural gas



-National health insurance

-----------------------------------------------------------------------------------

A.
Elasticities


1.
Tools chapter - Slope of S/D


2.
Ep = %(Qd/%(P



-Always <0 due to law of demand


3.
Example:



P

Q



1.00

100



2.00

  50



3.00

  25


4.
Show why point elasticity gives false answer


5.
Instead use Arc formula:



(Q2 - Q1)/Ave Q



--------------------
= (


(P2 - P1)/Ave P



A.
Do an example with numbers above


6.
Designation:





0<(<1
inelastic





(=1

unitary elastic





(>1

elastic



Range:
from 0 to (


A.
then drop minus sign by convention


7.
Provides samples from Mansfield


8.
TR test:



Inelastic:
P up = revenue up



Elastic:
p up = revenue down


9.
Factors that influence size of (:



-# of substitutes



-luxury v. necessity



-length of time

B.
Different types of elasticities:


1.
Income:
%(Qd/%(income



-(i < 0 inferior



-0<(I <1 normal



-(I>1 = superior


2.
Calculation:



Q

Income



100

10,000



140

12,000



180

14,000

C.
Cross-elastiticies:



%(Qdx/%(Py



-Example:
chicken v. fish





Gas v. cars





Tires v. cars





Apples v. oranges


1.
Complements



Substitutes

D.
Applications:


1.
Govt uses to calculate tax revenue



Firms use to see if change in price (or other economic 



variables) is positive


2.
Tax incidence:



-Case 1 - Supply vertical
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-If tax passed along, Qd<Qs (surplus)


-Therefor, supplier must eat tax


a.
Case 2 - demand vertical (perfectly inelastic)



-Now tax can be passed along


b.
Reality - more inelastic bears more of the tax

-------------------------------------------------------------------------------------------

Consumer Theory:

A.
How do consumers judge purchases:



Item

Cost

Utility
Utility/$



-----

------

-------

----------



Toaster
$  20

  100

    5



Television
$300

2400

    8



Sofa

$500

3000

    6


-Consumer picks highest utility/$, if within budget set


1.
If cardinal utility measurable?  (do Samuelson)

B.
Equilibrium - Need to use marginal utility:


(utility/(quantity


1.
And MU ( as Q (

2.
Example - pizza


  

    Quantity
     Utility
MU





0

0 






1
        40
40





2
        70
30






3
        90
20





4
      100
10





5
      100
  0


3.
Sated at five slices - experiment?

C.
At equilibrium:



MU1

MU2



------
=
------
= ……..



   P1

  P2


1.
Explain why

D.
Example:


    Qcoffee   Utility

Qdonuts
Utility



0
  0

      0

    0




1
20

      1

  80



2
35

      2

140



3
45
 
      3

180



4
50

      4

200



5
50

      5

200



Budget = 3.50



Pcoffee = 50 cents



Pdonuts = $1.00


1.
Find randomly, then use formula

-----------------------------------------------------------------------------------

E.
Indifference curves and budget lines:


1.
Explain axes, etc.


2.
Example


Income = $2000

P1 = $20
P2=$50


3.
Utility - need representation of consumer preferences



-indifference curves:


>>>>DRAW<<<<

4.
Combine, and show income and price changes


A.
Do second example:




Income = $500
Pclothing=$20
Pfood=$50

5.
Use above to show income-substitution effects when Pfood 
down to $25

-------------------------------------------------------------------------------

Consumer surplus:

A.
Willing to pay v. what is actually charged:



[image: image2.wmf]Price

Quantity

D

P*

Q*

S



1.
Willing to pay - P* (what you do pay)

B.
 Use to analyze govt actions (taxes)


1.
Use perfectly elastic supply - 



A.
shifts up after imposition of tax




1.
Loss > tax revenue, so DWL exists.




(Graph)

------------------------------------------------------------------------------

A.
Production Theory:


1.
Firm combines K,L to produce output



Y = F(K,L)


2.
K is fixed in SR, LR all are variable

B.
Production in SR


1.  Y = F(K,L), with K fixed



K
 L
 Q
(Q



10
10
10




10
20
25
15



10
30
45
20



10
40
65
20



10
50
80
15



10
60
90
10



10
70
90
  0



A.
Note area with gains to specialization and 




diminishing returns


2.
Need AP and MP



L
Q
 AP
   MP



0
  0
---
   ----



1
20
20
   20



2
45
22.5
   25 



3
75
25
   30



4      105
26.25
   30



5      130
26
   25



6      145
24.25
   15



7      145
20.7
     0


3.
Graphically:  MP, AP, TP

C.
Law of diminishing returns


1.
First, gains to specialization, then D.R.

D.
Explain why MP = AP at max. of AP


1.
And slope of TP = MP

---------------------------------------------------------------------------

Costs of the firm:

A.
Fixed + Variable


1.
Part of fixed = implied (implicit) costs - opportunity 


costs



A.
Explain implicit costs


2.
FC irrelevant in short run


3.
Example (Let p = $8)


 Q
FC
Cost of
TC
 TR
Profit
  Profit




Labor




  w/o FC


  0
100
    0

100
    0
-100
        0


10
 --
  50

150
  80
  -70
      30


20
 --
  90

190
160
  -30
      70



30
 --
140

240
240
     0
    100



40
 --
210

310
320
   10
    110



50
 --
300

400
400
     0
    100




Same Q*. therefore can ignore FC

B.
To determine Q* and profits, need averages and marginals:



ATC = TC/Q



AVC=VC/Q



AFC=FC/Q


From data above:



AFC

AVC

ATC



------

-----

------



  10

   5

  15



   5

 4.5 

  9.5 



 3.33

 4.67

   8




 2.5
           5.25

 7.75



  2

   6

   8



-Explain shape of each


1.
Marginal cost:



=(TC/(Q=(VC/(Q


2.
From before:





 Q

TC

MC





  0

100





10

150

  5






20

190

  4





30

240

  5






40

310

  7





50

400

  9


3.
Graphically:   AVC, ATC, MC


4.
Relationship between cost/product curves:



-inverses



-example:



MC = (VC/(Q=(wL/(Q=w(L/(Q=




W * 1/MPL



Since W is fixed, MC = constant*1/MPL

C.
Costs in LR:


1.
Firm can change plant size



A.
ATC ( as plant size up (economies of scale)



B.
DRAW:


2.  Repeat for decreasing, increasing, constant cost industries



-graphs

----------------------------------------------------------------------------------

Market structures - Perfect competition

A. 
Conditions:


-many firms


-homogeneous product


-no barriers to entry


-each firm a small % of market

B.
Graph:
[image: image3.wmf]D
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C.
Numerically:


    Quantity Price
TR
TC
profits



  0
$4
  0
30
   -30



  5
$4
20
50
   -30



10
$4
40
60
   -20



15
$4
60
65
     -5




20
$4
80
75
      5



25
$4    100    100
      0


1.
Better, use MR = MC:



(due calculus maximization):



A.
In PC, MR = P
(show in above)




1.
Therefor, P = MC


2.
Ex.



Q

Cost

MC



0

  0

----



1

30

30



2

50

20
Gains to specialization



3

60

10
--------------------



4

90

30
Diminishing Returns



5
        140

50



(GRAPH)


3.
Where is Q*
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-Left of Q, MR>MC, Q should rise


-Right of Q, MR<MC, Q should fall

D.
Complete model by adding in ATC and AVC

E.
shut-down decision:


1.
Five critical points:



-P>ATC



-P=ATC



-AVC<P<ATC

Firm stays open



-P = AVC


Indifference



-P<AVC


Shut-down


2.
Graph each

F.
L.R. Adjustment:


-Graph shift in Supply & Price meeting ATC in LR

G.
Increasing/Decreasing cost industries


Graphs

H.
Is PC good or bad?


1.
Good - technical and social efficiency



Technical:
min ATC



Social:
P =MC


2.
Graph in LR


3.
Bad - does not promote innovation

--------------------------------------------------------------------------

MONOPOLY:

A.
Ask class to name monopoly firms

B.
Divergence between P and MR in monopoly:



P
Q
TR
MR



50
0
  0



45
1
45
 45



40
2
80
 35



35
3      105
 25



30
4      120
 15




25
5      125
   5


1.
Slope is 2X demand curve

C.
Best Output:
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(ADD in ATC)

Note:
MR = MC, but P does not = MC

AND:

P>ATC in both SR and LR (economic profits in LR)



-label profits in above

D.
How do monopolies arise:


1.
Barriers to entry:



-legal:
Postal service



-natural:
Economies of Scale (utilities)



-patents:
Drug Companies


2.
Talk about deregulation of utilities

D.
Price discrimination:


-Car rentals 


-Airline tickets


-utilities


-Phone in old days


1.
Conditions:



-must prevent resale



-must be able to separate customers



-elasticities must be very different


2.
Example - 3 tier pricing in utilities (R/C/I)
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-ADD in ATC

E.
Gains and losses due to monopoly:


-Losses:
Lose both technical and social efficiency


-Gain:
Innovation (Ma Bell)

------------------------------------------------------------------------------

Imperfect competition:


1.
In practice, most firms are here


2.
Includes monopolistic competition and oligopoly

A.
Monopolistic Competition:


1.
Many firms, but product no longer homogeneous



-banks, pizza parlors, convenience stores, diners, gas 


stations


2.
Other characteristics:



-differentiation, usually slight



-weak barriers to entry


3.
Setting of prices:
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ADD ATC

-Note:  Can raise prices to some degree, but then customers start to leave.

B.
Losses and gains to consumers:


-Lose, both types of efficiency (Q too small)


-Gain differentiation - avoid generic car

------------------------------------------------------------------------

Oligopoly:

A.
3 or 4 firms control market


1.
Concentration ratio to measure (ex. Steel, oil, paper, 


autos)

B. Characteristics of market


-slight differentiation


-strong barriers to entry

C.
Pure v. Impure

D.
price interdependency 

E.
Cause of oligopolies:


-economics of scale


-mergers


-artificial barriers to entry (advertising)

F.
Price leadership:


-1 firm typically responsible for all price changes


-Prices are sticky upwards - not raised until very necessary

-Approach #1 - Game Theory:






Coke





$1.25


$1.00

Pepsi

$1.25

$150m/$200m
$75m/$300m



$1.00

$250m/$100m
$100m/$125m

G.
Determination of prices - Kinked demand curve


1.
Perceived (for P()



Proportional (for P()


2.
Graph:
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3.
Full model - Add in cost curves and MR:
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Add in ATC

H.
Cartels-


Firms/countries that band together to fix prices - act a multi-
plant monopolist


1.
Examples:



-Petroleum

OPEC



-Coffee



-Cocoa



-Bauxite



-Sugar



-Tin



-Natural Rubber




-GE



-Vitamins


2.
Conditions:



-small # of firms

-barriers to entry



-homogeneity

-no substitutes



-non-perish ability


3.
Incentive to cheat:
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--------------------------------------------------------------------------------

Market Failure

A.
Three types:


-externalities


-public goods


-congestion

B.
Externatlities:


1.
Costs (benefits) that are external to the firm



-pollution



-noise



-Fairfield (positive example)


2.
How to address:



-tax that internalizes costs


[image: image11.wmf]D

MR

MC

MC'

P

Q

P

P'

Q

Q'



ADD IN ATC


3.
Note:
P( and Q( - less pollution, and consumers pay 


more if they want polluting product - money can be used 


to clean up mess


4.
Class discussion - global warming

C.
Congestion - Why a problem?


1.
Tolls as a solution 



-Connecticut Roads

D.
Public Goods:


1.
Subject to free-ridership and less than truthful revealing 


of preferences



-lighthouses


-military



-stoplights



-police (sort of)


2.
Counter-examples:

private security, etc.


3.
Solution: Provide through govt, not privately



A.
Discussion - why not private roads
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